Inequalities on a Number Line with Values Within a Range

1l -5<x<8 <=

3-2-1 012 3 45

-10 9 -8 7 -6 54

2.-2<x<3 <«

3-2-1 012 3 456 7 89 10

10 9 -8 7 -6 -5 4

3.-l<x<5 =

3-2-1 012 3 456 7 89 10

-10 9 -8 -7 -6 54




Inequalities on a Number Line with Values Within a Range

l4<x</ <«

3-2-1 012 3 45

-10 9 -8 7 -6 54

2 1<x<6 =

3-2-1 012 3 456 7 89 10

10 9 -8 7 -6 -5 4

3.-6<x<5 =

3-2-1 012 3 456 7 89 10

-10 9 -8 -7 -6 54

4-6<x<-3 <




Inequalities on a Number Line with Values Within a Range

l-6<x<6 <

3-2-1 012 3 45

-10 9 8 7 -6 54

2 1<x<4 <=

3-2-1 012 3 456 7 89 10

10 9 -8 7 -6 -5 4

3.4<x</ <

3-2-1 012 3 456 7 89 10

-10 9 -8 -7 -6 54




